
 
 
Comprehension Answers  

Inference 

8. Traction Man was crawling slowly because he didn’t want to scare the insects away. 

9. Traction Man didn’t notice Evil Professor Spade because he was so busy watching the little insects. 

10. The answer is (b) – dependable. 

Because he came to the rescue when Traction Man needed help. 

Maths Answers  

21 + 45 = 66 33 + 26 = 59 19 + 31 =50 
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Tuesday  

Comprehension  

Read through the text ‘Animals’. Remember to underline the words that are unfamiliar and discuss their meaning with an adult. 
Answer the vocabulary and retrieval questions 1-5.  

 

  



Vocabulary 

1. What does the word ‘omnivore’ mean? 

2. Which word is used to describe an animal that sleeps during the day? 

3. What does the word ‘unique’ mean? 

Retrieval 

4. Why is every zebra in the world unique? 

5. What does an ostrich eat? 

Maths Starter:  

28 – 14 =  78 – 35 =  82 – 16 =  

 

Main Activity: 

 



 

 

 

 

English activity: 

Focus: Co-ordinating and subordinating conjunctions 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

Science  



 



 





 

 

 

Optional extra.  

Do you know want to know what coding is?  

Follow the link https://www.bbc.co.uk/bitesize/articles/zkjy382 and practise your coding skills.  

https://www.bbc.co.uk/bitesize/articles/zkjy382

